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= 4,666,505 4,221,505 445,000
= 995,400 995,400 0
< 878,458 783,458 95,000
= 5,894,885 5,713,985 180,900
JI=H S 8,553,995 7,818,9% 735,000
= 4,317,205 3,872,205 445,000
= 601,250 506,250 95,000
= 3,635,540 3,440,540 195,000
S HEIIA M2 A 3,696,000 3,726,000 /30,000
= 1,881,000 1,896,000 A 15,000
< 164,000 164,000 0
s 1,651,000 1,666,000 A 15,000
402 RIZHRH20IA 416,000 446,000 /30,000
= 241,000 256,000 15,000
= 175,000 190,000 A 15,000
02 QIEN A E X (0IETHR) 416,000 446,000 /30,000
O LPG 22Xt &IXF 7Y XA
&3 20,000,000& 20,000 50,000 /30,000
= 10,000 25,000 A 15,000
= 10,000 25,000 15,000
OIS A 08 K& 1,458,200 1,358,200 100,000
= 605,000 505,000 100,000
< 153,200 153,200 0
= 700,000 700,000 0
402 QI+ X201 ™ 1,458,200 1,358,200 100,000
= 605,000 505,000 100,000
= 153,200 153,200 0
= 700,000 700,000 0
02 QI 2 AL E X (0IETHR) 1,458,200 1,358,200 100,000
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&3 1,455,000,000& 1,455,000 1,355,000 100,000
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(= 210,000 165,000 45,000
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=2 1,692,000 1,332,000 360,000
[ 210,000 165,000 45,000
= 980,000 770,000 210,000
02 QIS A E X (0I™THE) 2,882,000 2,267,000 615,000
O ™2t 23
3 2,882,000,000& 2,882,000 2,267,000 615,000
=2 1,692,000 1,332,000 360,000
[ 210,000 165,000 45,000
= 980,000 770,000 210,000
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[ 50,000 0 50,000
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1,500,000 x4 6,000 0 6,000
(= 6,000 0 6,000
O EE ¥ 89 4225 F(HEH)
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20,000,000+ 14! 20,000 0 20,000
[ 20,000 0 20,000
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= 121,000 121,000 0
=z 995,400 995,400 0
(= 199,081 199,081 0
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SM: A
M HY HABH

LA JlgtR=
Eel: B3PS (St &)
A -3 - SRA(3H) - HRAE - BES Ofl &F2H I3 A Hwusz
O U1 Hi== BHEASE 2L 2
38 02 0 1,500 1,500
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ASTHHEIIA 2R X =2t 2,490 3,690 1,200
201 er=3| 2,490 3,690 1,200
01 At22t2lt] 2,490 3,690 A1,200
O XNSAt &It =HI0] =2l 0 1,200 A1,200
- IHA=FD] Z2F 0 0 500 A500
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402 SIZERHE0| M 27,000 40,000 13,000
01 QI X2 AL E R (KEHITHE) 27,000 40,000 13,000
O SAE] HDIE 28| X 2x3 K& 27,000 40,000 213,000
- JHE & 27,000,000& 27,000 30,000 23,000
= EN & 03 0 10,000 10,000
T2 THHIAMAX M2 204,000 220,000 A 16,000
405 XHAHE SHI 204,000 220,000 A 16,000
01 ML ESHSHI 204,000 220,000 16,000
O &2 Faxeg 7Y
Z& 204,000,000 204,000 220,000 16,000
HISIMOHE X EHIAH 19,000 20,000 A1,000
207 A IOHEH] 19,000 20,000 21,000
01 A1 19,000 20,000 1,000
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2 IIZEHES Z& 19,000,000 19,000 20,000 1,000
NHEWEE A 2,950,219 2,889,239 60,980
= 284,500 284,500 0
= 363,580 234,000 129,580
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AEMEE =8 705,497 744,097 238,600
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23 114,000,000 114,000 140,000 226,000
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01 AlR2telH] 40,000 30,000 10,000
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SAHDIZ MelAd 25 72,532 87,532 15,000
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= 56,582 56,582 0
= 34,768 36,418 21,650
01 XL =S SF =H| 91,350 93,000 1,650
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Z & 91,349,004 91,350 93,000 1,650
= 56,582 56,582 0
= 34,768 36,418 A1,650
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= 660,000 660,000 0
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&t gt Q| Xt 273,000 273 0 273
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